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sSAEs HIlsA 7,000 7,000 0
307 212t01 & 7,000 7,000 0
02 DIZtZAAMEE X 7,000 7,000 0
Osdgsl (gt ¥Il&2dA 7,000,000& 7,000
StHER S 323 15,000 15,000 0
307 212t01 & 15,000 15,000 0
02 DI2ZtZ &AM E X 15,000 15,000 0
Ot EaRHS S3 15,000,000& 15,000
AMEESE Al € S53 3,000 3,000 0
307 QI2t0| M 3,000 3,000 0
02 DI2HEAAIEE X 3,000 3,000 0
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307 QI2t0| ™ 3,500 3,500 0
02 DI2ZHE MAIEE X 3,500 3,500 0
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307 212t01 & 5,000 5,000 0
02 DIZtZ AAMEE X 5,000 5,000 0
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02 AI2HAAMAIEE =X 37,000 37,000 0
OS4EE3d H=d=AY 37,000,000& 37,000
M Set3 7,000 7,000 0
307 QI2t0| ™ 7,000 7,000 0
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ART in Eet=2 2,000 2,000 0
307 QI2t0| ™ 2,000 2,000 0
02 DIZtBAAMEE X 2,000 2,000 0
OAMRT in 22t=2 2 2,000,000& 2,000
HE23 HMEwWa 3,000 3,000 0
307 212t01 & 3,000 3,000 0
02 DIZtZAAMEE X 3,000 3,000 0
OEZ3 MEwWa 3,000,000& 3,000
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307 212t01 & 99,000 99,000 0
02 Q2B AMAIEE =X 99,000 99,000 0
OsH gals43 99,000,000& 99,000
NE23 SHANG(SHZ 3ad QAHAEZ 29Y9) 179,380 176,005 3,375
201 LEt2 Y| 72,020 68,660 3,360
01 AR 22| bl 27,020 23,660 3,360
Ogt2H| 4,000,000 4,000
O=EZ2 Mz 2,500,000& 2,500
o) |RXNE=Hl 150,000& * 12& 1,800
OoOxtgEdxz 360,000& * 523 18,720
03 A2 H H 45,000 45,000 0
OFEAHE QQHAER HI| AF3F
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OFAYE QIHAEZ HOIIe H=F3
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OHAE @AAES A o 2T
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301 et X = 100,360 78,760 21,600
09 HALAHI X &= 2,000 2,000 0
OFAE QLHAEZ S 2,000,000 2,000
Vo=t - 2sESE4A2 29,270 27,410 1,860
OX&X 2¢ 17,170
=0 1,000,000& * 14 * 12& 12,000
-E&Ad 80,000& * 503 4,000
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130,000& * 93] 1,170
OLAAEZIRH 12,100
-2t ANH| 3,000& * 508 * 523 7,800
-ct=s 2 Opg 100,000& * 434 4,300
12 JIEtE &2 69,090 49,350 19,740
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190,000& + 78 = 93] 11,970
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01 A&t = S F S HI 7,000 10,000 A 3,000
OFAYE QHAEZ 24D 7L 5,000,000& 5,000
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307 glz2+ol & 10,000 10,000 0
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307 21201 A 25,000 21,460 3,540
< 10,000
[ia 15,000
02 ItFAAHE X 25,000 21,460 3,540
O=Fstret 28 & WEAY 25,000,000& 25,000
= 10,000
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ey 500,000
& 100,000
= 400,000
01 A& HI 1,000,000 506,000 494,000
OXrel 0H| HUEIOIE =4 At
1,000,000,000& 1,000,000
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& 100,000
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MEZSHEH 29 22l 68,951 62,585 6,366
101 @121 17,571 18,585 N 1,014
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OMESZSME HAt2E o182 17,571
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-AMEEE 28" =2 15,829,000& * 11% 1,742
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Ogt2H| 3,000,000 3,000
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OAENMNMEH =232 250,000& = 128 3,000
o & A5 48 250,000 * 123 3,000
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02 3524t 25,280 24,680 600
OAlI& &H|l X4l 5,000,000& 5,000
O3322 16,680
S e 300,000& = 12& 3,600
-& D] 1,000,000& = 12& 12,000
—SNR3 90,000& = 12& 1,080
ogeldd ¢ CCTv 300,000& = 12& 3,600
S48 A2 HE ALY 22,000 22,000 0
207 A FOH | 22,000 22,000 0
01 A2 E49Y| 22,000 22,000 0
Q2022 SHdZ SAR23 =03
22,000,000& 22,000
20| B Y 22| 3,846,362 1,813,396 2,032,966
Jl 30,000




EX: S3Hs
Ma: pglly 25 2 el
Sol: BBAIM ET U QTe HE CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 1,042,560
= 2,773,802
SEZAIZH =X Y olTZe} EE 3,846,362 1,813,396 2,032,966
J| 30,000
&< 1,042,560
= 2,773,802
AR F X 50,500 55,500 A5,000
307 2Iz2t0| & 30,000 36,000 A 6,000
05 QIZ2tR E 2 30,000 36,000 A 6,000
O AZLEOS 2SAHY 30,000,000 30,000
308 XNXIGHHM SO0l & 20,500 19,500 1,000
07 AXSHHZ2ES 2 20,500 19,500 1,000
OZSSABBHS ZEANY 2y
20,500,000 20,500
NE23sH KN 58,972 64,972 A 6,000
201 LBt | 11,472 17,472 A 6,000
01 AP 22| H| 11,472 17,472 A 6,000
OFH S2X(0/&) =2 M
100,000 * 464 4,600
O=HM E22 HH 500& = 10,0008 5,000
O=EMAS 2 Z2d| 8,000 ~ 262 = 9¢ 1,872
207 SO0 22,000 22,000 0
01 | 22,000 22,000 0
OFH TotE29H|(8& 4, ZH=H)
11,000,000& = 23| 22,000
301 et X = 25,500 25,500 0
09 SHAIAHI XIS 2 1,500 1,500 0
OS2 Q4aSH A
50,000& = 30Y = 13| 1,500
12 JIEtE A2 24,000 24,000 0
ONKZ2AX SAHI(EH , ZEH=A)
8,000& = 1,500 = 23| 24,000
St ZNEAMNSE(XNS)(HEAZ) 36,594 36,594 0
o= 5,360
= 31,234
301 et M= 36,594 36,594 0]
= 5,360
= 31,234
09 HAIAHI X & 2 600 600 0
O=2st&Zol & Al W=0id] 600,000& 600
& 78
o 522
12 JIEtE A= 35,994 35,994 0
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fAM: 2=
Ma: pglly 25 2 el
Sol: BBAIM ET U QTe HE CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O34 E3=HM =4 AHOILL HA
10,000, 000& 10,000
Os84d=82 = Ottt J2H=l  20,000,000& 20,000
307 21201 A 43,000 93,000 A 50,000
02 HIAFLAHFEX 28,000 78,000 250,000
OSBHI=EH 40 A 28,000,000& 28,000
05 BIZERIE 3 15,000 15,000 0
OZHIEH 23 SNSOI 8l E 15,000, 000& 15,000
2 2AZ =M KNIALG(SH=EH) 60,000 760,600 A700,600
J| 30,000
< 30,000
307 glz2+ol & 60,000 760,600 A700,600
J| 30,000
< 30,000
04 QIZFHALAIH E = 60,000 760,600 A700,600
O2z2=Z2=H KNI (SH=H) 60,000,000 60,000
J| 30,000
< 30,000
=M XNAL (SHEH) (XA 720,000 0 720,000
307 21201 A 720,000 0 720,000
04 QIZFHALAIH B & 720,000 0 720,000
OZH=H 720,000,000 720,000
ANz HE2S s AHEH=23HH) 400,000 400,000 0
307 21201 A 400,000 400,000 0
04 DIZHHALALSE E X 400,000 400,000 0
OANZ HHE2S ti=g8HAH(EL23HH)
400,000,000 400,000
SHHMM=MEE 29 192,105 145,000 47,105
201 Let24d] 15,000 10,000 5,000
02 2324l 15,000 10,000 5,000
OSHHMHMM=MEE & USHZE M=
15,000, 000& 15,000
307 21201 A 137,105 135,000 2,105
05 RIZt2IEt = 137,105 135,000 2,105
OSHMMH=MEE 21 22|
107,105, 000& 107,105
OSHIMHMME=MEE 2 EH= A
30,000,000& 30,000
401 AIEHI L 2 CHYI 40,000 0 40,000
01 A& HI 40,000 0 40,000
OZHIMMH=XNEE USHZE RANE=>
20,000,000& 20,000




fAM: 2=
Ma: pglly 25 2 el
Sol: BBAIM ET U QTe HE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSHIHMM=MEE L= & B SM
20,000,000& 20,000
Sgaa 29 59,784 74,984 A 15,200
307 gl2tol & 59,784 74,984 A 15,200
02 IZHE M AHE L 59,784 74,984 A 15,200
OE0IAE HERENHHH 29
59,784,000 59,784
SRR 20,000 22,000 A 2,000
401 AIEHI L 2CHYI 20,000 0 20,000
01 A& HI 20,000 0 20,000
OLReREX KA (M= )
20,000,000& 20,000
2 KA 34,866 0 34,866
201 et 9,000 0 9,000
01 At 22l 6,000 0 6,000
OZ&d Age 299 6,000,000 6,000
03 A2 Z Hl 3,000 0 3,000
OZZSogos d23 & MOoIL =
3,000,000& 3,000
307 gl2tol & 25,866 0 25,866
02 It M AHE L 25,866 0 25,866
Os0I2& 824 EQHOIH 25,866,000 25,866
A=K MEFLZHNEs T4 AAD(HSAY) 2,000,000 0 2,000,000
< 1,000,000
i 1,000,000
401 A& HIZ 201 Y] 2,000,000 0 2,000,000
< 1,000,000
i 1,000,000
01 A& HI 2,000,000 0 2,000,000
O3 M=X HMEsLd22TAS =4 MY
2,000,000, 000& 2,000,000
< 1,000,000
e 1,000,000
M= elZet &5 5,134,897 4,894,074 240,823
J| 338,642
< 50,802
e 4,745,453
dE2HsE =4 2,236,950 2,205,350 31,600
AgE 29 1,852,150 1,842,350 9,800
201 €24 32,200 32,200 0
01 At 22l 400 400 0
Oget==EH| 400,000& 400
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2A: 2SH=
M s dZet &5
Sl M2HE 84 CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
02 3524l 31,800 31,800 0
O332=2 % HA 2,400
-JbAH| 40,000& = 128 480
-0l & HOolE AIEZ 100,000& * 128 1,200
M= 60,000 * 12& 720
O&gE =4 2 e A2l
15,000,000& 15,000
OAgE =4 U8 Q20 12,000,000& 12,000
OMYUE &2 POARHIAAY
200,000 = 128 2,400
301 LEtE M= 1,819,150 1,810, 150 9,000
VU= - 2sSESE24A3 1,819,150 1,810, 150 9,000
Oalde A AIJLRXEH 30,000,000 = 3€ 90,000
OagE g&aza 4,000,000 = 10¥H 40,000
OR &I &dl X2l 4,000,000& * 3% 12,000
O SEHI 2,750,000& = 38 8,250
OJIEt 24HI 500,000 = 3€ 1,500
Og ga ZAZ
5,000,000& *~ 60 TH3l =~ 3€ 90,000
o878 29 551,040
2= 20 3,900,000 = 12& 46,800
-d= 20 3,500,000& * 8Y = 12& 336,000
MBS Jla8edg=2 382,800,000& = 10% 38,280
-3l =& &I
90,000& = 9% = 10¥ * 53] 40,500
-I=H ¥ 234| 650,000 * 9Y = 23| 11,700
-MXEHE =4I
90,000& = 9¥ = 10 * 23 16,200
-= &l 450,000& * 9¥ * 12& 48,600
-2tANH| 4,000 * 9 = 30¥ * 128 12,960
O=4aE 29 490,400
25 20 3,900,000& = 12& 46,800
-d= 20 3,500,000& * 79 = 128 294,000
-AMEBEE 28" =a 340,800,000 * 10% 34,080
-3l &I
90,000 = 8Y¥ = 10¥ * 53] 36,000
-I=H ¥ 234 650,000 * 8Y = 23| 10,400
-MXEHE =4I
90,000& = 8Y = 10¥ * 23| 14,400
-= &l 450,000& * 8% * 12& 43,200
-2tAH| 4,000& » 8% x 30 * 123 11,520
OAI0IE2E 29 535,960
25 20 3,900,000& = 12& 46,800
-3ax 20 3,300,000& = 12& 39,600

_18_




Z M = ot
s olZet &5
deHs =4 @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
- 20 3,500,000& = 7H » 12& 294,000
-ALR 2" D22 Y= 380,400,000 * 10% 38,040
-z =dZH|
90,000& = 8H * 10€ = 53l 36,000
- =H ¥ 824l 400,000 = 8H = 23l 6,400
-dXEdE =4l
90,000& = 8F * 10& =+ 23l 14,400
-= &l 450,000 = 8% = 128 43,200
—2HAlH| 4,000 * 89 » 302 » 122 11,520
-ZHR3 & A23H 6,000,000 6,000
405 XtatE SHI 800 0 800
01 XML = ZH SHI 800 0 800
OF=8 ¢z P¢ 800,000& = 1CH 800
i 4 (M) 384,800 363,000 21,800
301 LEM = 384,800 363,000 21,800
Vo=t - 2S2S243 384,800 363,000 21,800
O+ 2&HIA 64,500,000 64,500
Ofx=d+ SHI& 116,500, 000& 116,500
OFe AE R4 E4 203,800, 000& 203,800
MBS &E 743,868 698,512 45,356
J| 338,642
= 50,802
fia 354,424
MEMSANCSUHESA S (A HHA) (LB MER S 216,979 213,024 3,955
K= Xt 8HXl)
J| 104,289
< 2,520
[ia 110,170
307 21201 A 216,979 213,024 3,955
J| 104,289
< 2,520
s 110,170
02 It S AHE L 216,979 213,024 3,955
Oger MEHSXZX BiXI 216,979,000 216,979
J| 104,289
< 2,520
s 110,170
MEMSASHESKA (A AHEIA) (02 LA 185,982 182,592 3,390
MEHSXE X BHXI)
J| 89,391
< 2,160
[ia 94,431
307 21201 A 185,982 182,592 3,390
J| 89,391
< 2,160
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2N
X ZH -
L= B

el

Off &t 24

=

i
2m

S

EUNE

104,550
73,185
15,682
15,683

68,

300

104,550, 000&

S

EUNE

104,550
104,550

73,185
15,682
15,683

68,

300

36,250

Mo

8,100

4,050
4,050

,000

A 900

307 21201 A

M H

8,100

4,050
4,050

,000

A 900

8,100,000&

EUNL

8,100
8,100

4,050
4,050

,000

A 900

N

UL

17,850
12,495
2,677
2,678

,200

A 1,350

S

UL

17,850
12,495
2,677
2,678

,200

A 1,350

o
OZOML AxZ=2% 018A X

17,850,000&

S~

EUNE

17,850

17,850
12,495
2,677
2,678

,200

A 1,350

SE=PARONIN P

S

EURLY

118,565

59,282
23,713
35,570

,928

1,637

307 21201 A

S

UL

118,565
59,282
23,713
35,570

,928

1,637

O MEMSA=X BiX

118,565,000&

S

EUNL

118,565

118,565
59,282
23,713
35,570

.928

1,637




SN 2SHSD
=R QT2 25
s zs SEED

- _ _ RE]
M- B (B H) - NSAY - B Ol &F o4 %Eﬁ 2t
sI|7 2 3,500 2,000 1,500
0I2t X =201 & 3,500 2,000 1,500
DIt 2 AN EZ (KM M) 3,500 2,000 1,500
Os=2Y IR (HLUAE HHA) 2
3,500,000& = 1CH 3,500
249 2,154,079 1,990,212 163,867
A Y A= &H 657,079 583,212 73,867
QB2 A Y| 4,790 4,790 0
01 AR 22l ] 4,790 4,790 0
OUA=E HESHA EE sS40t 1,350,000 1,350
O2A= HSEAF AIH M2 800,000& 800
O&=U3 L ASSHAF E2 X SAH|
1,440,000 1,440
OMYII2E FAHI(504 ) 1,000 = 1,2000H 1,200
[0:1s]] 11,840 8,988 2,852
=LH 04 Hi 11,840 8,988 2,852
OMEdE 248 | 6,840,000 6,840
ONd= 0I2tE U3 E2F& oyl
1,500,000 1,500
OF=HM™ ¥ TUUHE EFRF=& |
3,500,000& 3,500
oIztol A 636,549 557,734 78,815
DI2ZFAMAIE E X 231,306 194,457 36,849
OMEMEXN X S4H|
130,000& = 17¥ « 12& 26,520
OMEHEAN A W=H|
100,000 * 179 * 23| 3,400
OMEHEXN A SE0H]
200,000& = 17 * 12& 40,800
OME SN YESIHH|
2,084,000 * 60% * 174 = 23| 42 514
OME SR TSR A2t
16,390& = 20AI2F » 17¥H = 128 66,872
OMESXNNEAN 252 7,480,000& 7,480
OXMAMESAN A s XH|
100,000 * 4% « 12&€ 4,800
OMESAESA BIX BEEE2
80,000 = 17¥ « 12€ 16,320
OSE=2 M=s2dE UH F3S 18,000,000& 18,000
OsS4dzZH=g A8 A2ML 4,600,000& 4,600
03 AU EESIHES 405,243 363,277 41,966
OsdzZH=s 29 405,243
AR =2 3,666,600 ~ 12€ 44,000

- 22 -




2N 2HMSH
g M= ozet &5
gelr stz 29

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-UBtR (62U R) 3,526,290 * 3H * 12& 126,947
U8R (82 O 2)
2,314,380& * 2 » 123 55,546
224 11,911,390& 11,912
- EE 120,000& * 12& 1,440
- A S A 140,000& = 59 = 12 8,400
- EF Ot 9,099,570& = 23l 18,200
- JtE &t 4,800,910 4,801
“ANZ2tel = 1,700,000& * 128 20,400
s R=g= ] 9,060,000 9,060
-NEYHEHEH S 51,653,000 51,653
-AR = 23| 52,884,000 52,884
402 RIZ2EXt20l 3,900 11,700 A7,800
01 RIZt Xt 2 AL E = (REATH &) 3,900 11,700 A7,800
OMREI 2L (FFEH) 1,300,000& * 304 3,900
BHII2 Otet=al 272,000 272,000 0
307 21201 A 272,000 272,000 0
02 It S AIHE L 52,000 52,000 0
ORH163sl BHII20I2tENS F)3(s8)
15,000, 000& 15,000
OHI16al BtIIZ20tctENS sSatE 7
37,000,000& 37,000
04 DI2ZHHALALSE E X 220,000 220,000 0
OHM163l Bt =20tetEUa N
220,000,000 220,000
=2 TAEAUE 90,000 90,000 0
307 21201 A 90,000 90,000 0
02 LB AAFEX 90,000 90,000 0
02022 SE4&8=NHEHU 2 90,000,000& 90,000
=2 M=z 275,000 275,000 0
307 gl2tol & 275,000 275,000 0
02 IZtE S AHE L 275,000 275,000 0
OHM39s sd=2CM=U3 275,000, 000& 275,000
S% HsUe 180,000 100,000 80,000
307 glz2+ol & 180,000 100,000 80,000
02 It M AHE X 180,000 100,000 80,000
OS8™ M=UZ (9 S5¢) 180,000, 000 180,000
E=2E MEHsUHal KA 82,000 82,000 0
307 21201 A 82,000 82,000 0
02 HAFHAANHEEE 82,000 82,000 0

_23_




25 2

FM: M= =t &=
Sol: HSHE 2 (29 a8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OssgdEM=UHE N 82,000,000& 82,000
S8z dEXN=sHS 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
02 QIZtE M AHE X 30,000 30,000 0
Os4dz dEM=sUa Hal 30,000,000& 30,000
e Hsis 40,000 40,000 0
307 21201 A 40,000 40,000 0
02 LAFAAFEX 40,000 40,000 0
O&ee M=dsal i 40,000,000& 40,000
M=z &It 446,000 436,000 10,000
307 2201 A 446,000 436,000 10,000
02 It M AHE L 446,000 436,000 10,000
OHelsl sS=2ZCM=EU &It
200,000, 000& 200,000
OAZCHE AAOtctECHEl &I 30,000,000 30,000
Os=2ZMe=edslal &It 40,000,000 40,000
OFMIXM=CHE JHEl & &I 15,000,000& 15,000
OHM8al SE=ZZMHAMICHS N
20,000,000& 20,000
OZOHQ HMISWAA 10,000, 000& 10,000
OdZ3al &It 10,000, 000& 10,000
OSIgdHeMsHE &It 31,000,000& 31,000
O=s=NESHLUa &It 5,000,000& 5,000
Os=sdaxsHa &It 65,000,000& 65,000
Os=EdsddeEdsial &It 20,000,000 20,000
= S50 HUAMSE 22,000 22,000 0
307 21201 A 22,000 22,000 0
02 It S AMHEL 22,000 22,000 0
Os4dzZ=tf 8= s3¢ HUAUSE M=
22,000,000& 22,000
=03 R 60,000 60,000 0
307 21201 A 60,000 60,000 0
02 QAFAAFEE 60,000 60,000 0
OF=AZEHUANHE KX 60,000,000& 60,000
a3 243t 919,080 935,710 A 16,630
FtosAg2e & 24 919,080 935,710 A 16,630
=z 2 222 919,080 935,710 216,630
101 @14l 59,219 61,949 22,730
04 JI2ZtHZ22HEE = 59,219 61,949 22,730
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fAM: 2=
M 2o 243
o2l 2o g2l & 24 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=Hza & MAIE HA o2 35,140
=0 73,2803 * 2¥ x 216¢¥ 31,657
-ALRIE™ JI2RE S 31,657,000& * 11% 3,483
O3, ™Al - H2AF erE 22| (Jl=X &)l
£ 6,508
=0 73,2803 * 4H » 20¢ 5,863
-ALRIEE JI2RE S 5,862,000& » 11% 645
Oz & HAl GREX URY 17,571
=0 73,2803 * 198 = 216 15,829
-AFEIEE DR E 3 15,829,000& * 11% 1,742
201 2et24d] 831,941 811,709 20,232
01 At 2teltl 136,486 117,286 19,200
O3 28 822 M 40,640
-UE =9 M
500,000& * 1A * 143 7,000
-8 g9 A
200,000& * 1A * 123 2,400
-8 829 WA 50,0008 * 9HA * 263 11,700
-“ZAH HME 1,100& = 30008 = 143l 4,620
B M= 30,000& * 204 * 143 840
-clIE& M 300& = 2,00000 = 143] 8,400
22 U UASHE 25 HA
2003 = 6000H = 143l 1,680
SDZ2) ot ES M
1,000& = 2,000% * 23] 4,000
Ot=321 =¥ 25,000& = 38 43 300
ORU 22F FL(RHEX)
6,000,000& = 14l 6,000
OSFUAIE HIXI =485 ¢
150,000& +* 43l 600
OFAES P (Zd  2EA MedlIs&E S)
200,000& = 12& 2,400
Odd o A=g 12,000
-HEAS 780,000& = 53| 3,900
-3 E ¢ 450,000& * 1823 8,100
OAMBE U APBE 7Y
100,000& * 123 1,200
OEF & HeH 22
12,000 » 284 « 12& 4,032
OZ44yl +BAN 222
200,000& * 202 400
OLPG EEMEANE EIIEM =2
200,000& * 13 200
OLPG MEHI MY MHBEA =2
3,500,000& = 13l 3,500
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A= ot
tols32 243t
tol=Ald2tel & =4

HO MO Mo
tol toi ton

SN ZH-SAEA) - MR

O3yl ZH £42 150,000,008 * 7.5%
OLD| HARel £42 484,008 * 128
OSASX 7Y 25,0008 * 102 A * 33
OB4I %2 37,0002 50 + 122
OHIIY A2F(SY,EH) 7Y

300,000% * 1CH * 23]
O=AD| X2 300,0008 * 104 * 128
OSged MY U M=
250,0008 * 7% * 23]
OAYAE BEB2l 42 445,008 » 128
osged =zl
8,0008 * 7% « 82 « 122
ORHOII2E AFX 7Y 2,508 * 3007H
OZiE BaM S¥ & 0/CI0f 7Y
35,0008 * 20%
OR4+2Y SLIEY 50,0008 * 2% * 122
OZHOIX |XZal 42 220,008 * 128
OSs0l=32 ZYMN T2y 2 o &
A (W28 8,300, 0002
02 232l
OA & ZHIR bl
-xF4 guze 2,000,008 * 33l
~BOFU JHE L UM HA
2,000,008 * 23l
-2 |1l (7,289.42m)  17,000,0008

1,540,000 * 23|
1,300,000 =+ 23l

1,500,000& = 52l

10
b
el
> W

-RUHIIHEXAE s 2

-LEDIAANE FX2

15,000,
7,000,
10,000,

-AMAE (RO & MEH) s

150,000& = 2CH

€ X2 (SE,. =%, I1H)

000&
000&
000&

3,000,000&
-SIIAE X2 15,000,000&
-AYAE mX2el 6,000,000
-HEHEAIE A2 & FHI 10,000,000&

* 62

20,0003 = 500Q! = 23 * 3%

150,000& * 12&
6,800,000& = 12&
300,000& * 12&

3,080
2,600

7,500
11,250
5,808
750
2,220

600
3,600

3,500
5,340

5,376
750

700
1,200
2,640

8,300

253,455

93,000
6,000

4,000
17,000

15,000
7,000
10,000

3,000
15,000
6,000
10,000
1,800

600
87,000
1,800
81,600
3,600
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2AM: 2=
dH: 2ol=s2 2435
el 2sMEAaTE W XY (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
ORdUdsSAEE 11,000& * 200 ~ 128 264
OCHYAIZZ 30,000& * 23| & = 128 720
OJtA A HUABEZ 100,000& * 13 100
Og3d 2 4,630
-& D] o™ 22| R+ 100,000& * 13 100
- 2ot ™ 22| Xt 50,000& * 13 50
=22l 240,000& * 29 480
-S=E23i=3 & HES
4,000,000& * 13 4,000
(@)sE=3s] 43,901
W dhg JPADH
1,600& = 4b5kg * 6AI2F » 100 43,200
- HI R FHI 701
SlgUL(M=I1 &) 1,950& = 30¢ * 53 293
IR (HagAI)
170,000 = 0.2A12F = 12L& 408
O#HFEH FAE=Hl 1,240
-CHols AR 1] 1,300,000& * 1200 * 5% 780
-TglfH 4,000,000 * 2CH * 2% 160
S AHD| 15,000,000 = 100 * 2% 300
O23s0s3 2 Ro&H & CCTV 22y
1,000,000& = 12& 12,000
O3z ZHMN T2 2 2 &
X (=24l) 8,200,000& 8,200
03 S AIS H H| 442,000 442,000 0
OJI&E&E23d Al ¥ e ad 442,000
JEsH Y A 400,000,000& 400,000
-gotad 3,500,000& = 123 42,000
202 04| 13,440 9,408 4,032
01 2LH0HI 13,440 9,408 4,032
O3 & 2elgR =X 13,440,000& 13,440
301 deEtE2d™Z 14,480 13,440 1,040
12 JEtE &2 14,480 13,440 1,040
OKXNSEAX AHEAN(SAH])
8,000 * 5% * 50! 2,000
OZANZ (230 =32 oF2td0l)
120,000& * 42 % » 263 12,480
HHSAHU(2SH =) 31,592 33, 145 A 1,553
Jl2ddl (23t =) 31,592 33,145 A 1,553
Jl2&l 31,592 33, 145 A 1,553
201 LEr2 Y| 24,992 25,765 ATT3
01 AFR2t2ld] 22,985 24,135 A 1,150
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2N
X ZH -
L= B

el

02 {0

SHAl = o
F2g2H (2sHA
=2ZH (23S

S

=1
)

K- B S (3H) - MBAY - B il
Oget+=gH| 6,645,000 6,645
O= &l 5,380,000& 5,380
OEAI Xtz 400,000 = 1CH = 12& 4,800
O8I &tz 50,000& = 10§ ~ 12& 600
O™ AY APE FH| 5,560
-ZHZelHy 4,400
- El 440,000& * 10 » 48 x 23] 3,520
- Ed * 10| = 23 880
-QBtITely * 200 * 23] 800
-FAX * 10} = 33 360
02 352494l 2,007 1,630 377
O™ &Hl SXl 2,007
-Gl s AR 1] 1,300,000& * 2700 * 5% 1,755
-Tglf 4,000,000& = 30H * 2% 240
-FAX 600,000 = 1CH * 2% 12
202 04| 2,400 1,680 720
01 2LHOHI 2,400 1,680 720
O2sMEl 2= 2,400,000& 2,400
203 & 2= &b 4,200 4,200 0
04 2SI L RF=AH| 4,200 4,200 0
ORNSEIEEFA 350,000& = 12& 4,200
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